5 CENSORING A common problem.in the survival data analysis is
;\ND TRUNCATION censoring undtmnpatmn. Roughly speaking, acensored

observation contains only partial information about the
object of interest. The most common case of censoring is right censoring, which is
considered here. We can qb§er\'e the event under study fora given individual only
if we can observe the ll‘ldl\‘fldllal at this moment. In the case of Censoring we can
only observe that this eventis not true yet.

Let the observations consist of (T, Tig, Ay, Ay),i=1 ---.n, where
Iy =min{Di Y, i=1,---,nij =1, 'laretheobsewedtimesandA;J = 0(Y;; — Dy)
are indicators if the event has happened or not, § is the Heaviside function. Here
are Dy, i = 1,--+,n;j = 1,2 the moments of death and ¥;; i =1,... n:j =12 are
independent and identically distributed moments of censoring with cumulative den-
sity functionG(x).

Therefore, there are four cases for the survival probability:

"1 '-‘1 0 OO
Pl ]'1 > t:-T-g > f;!.d] = _l.f._[‘_,‘_: = “ = /( ] / / f(;r'l-'-r2)gl(y] )_02(",(1-3,')dy-;rdy,d;rgdrl
| Jo Jo Jy Ji,

rty  pl2 :
= / / Jley, w)(1 = Gy(zy) )(1 = Galas))duaday,
o Jo

where g (x) and G (x) are respectively the density and cumulative density of the
censoring times,d, andd, are indicators if the observations 7' .and T are censo-
red in the meaning mentioned above.

Byanalogy
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Inthe last case
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Ipezned na dsymepnu modenu na usdpvocnusoem 47




